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Section 1.3

Modeling

January 24, 2020

To find x percent of y:

= decimal percentage

<[>

%(1 00) = percentage

Jan 19-10:14 PM

a)

€8 . - .
o - %5 = %

"68 is 85% of 80."

b) s X 1% = 18.ys

"15% of 123 is 18.45."

Aug 24-1:35 PM

Aug 24-1:36 PM
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) o x 9l = 7.28

"8% of 91 is 7.28."

d) 1 xNs=1§

"100 percent of 115 is 115."

Jan 24-4:01 PM

Jan 24-4:02 PM

e) 2* 23 =46

200% of 23 is 46."

200% of something is DOUBLE.

Jan 24-4:02 PM

Formula for percentage increase:

hew = old 4 Gamt of In¢rease
e
hew = old  + old { "2:\:1*

new = old( | + dewml )

Percent

hew = old(1 + r)

where r = %increase(in decimal)

Aug 24-1:38 PM
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Formula for percentage decrease:

hew = 0ld — amtof decrease
decime |
hew = old — old ( ':,'::h_'_

hew = old( | — dewml >

hew = old(1 - r)

where r = %decrease(in decimal)

January 24, 2020

new = L9y + L93( .0621) = 2.05

L9%( ) + .o0¢2 )
\.713( 1.og2: )

$205

Aug 24-1:38 PM

new = |$M0 4 |$°"(-”)

IS000+ 4S50 = [5Y50
_OK_
lSoaO(l.o'S)

$|sq<,o

Aug 24-1:41 PM

Aug 24-1:44 PM

A decrease in students:

New = 600 - 600(0.06)
= 600 (1-0.06)
= 564 students

Fact: If 6% of the students are gone,
then 94% of the students remain.

600(0.94) = 564

Aug 24-1:45 PM
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A stock market decline:

new = 10,345 - 10,345(0.04)
=9931.2

--OR --

(0.96)10,345

96% of 10,345 = 9931.2

January 24, 2020

If the dress is 30% OFF, then you should pay 70% of
the original price.

0.7 *$25.00 = $17.50.

$17.50 is the correct price.

The cashier is trying to steal from
you! (or she never took MS 100).

Aug 24-1:47 PM

AmT e - nev - ol ¢

2,08 - 193 = I

Amt e T
old = m: 062 = ¢l /o

Aug 24-1:49 PM

Aug 24-1:50 PM

Formula for percent change:

%change = (hew-o|d)
old

This will give you the decimal percent.

Jan 24-4:16 PM
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A\ means "difference” or "change”
13,500 - 12,000 = 1,500\
________ Amount of Increase 9,000 - 9,500 = -500 = A change
Amr IAI: —_ |Soo _ _ "'r?ega‘l‘ive change"
old ) [2000 - .lz‘-) = IZS % means a decrease.
-500 _
oR. 9500= 0.0526
(eu-0ld) (13500 1000
ol B
A 12000 (new -old) _ (9000-9500) _ .
old 9500 -
Sep 1-3:33 PM Aug 24-1:52 PM
The conclusion can be stated in several Ra'res
ways:

When one quantity is divided by another its called a rate.

1. The percentage change was -5.26%
2. The value decreased by 5.26%

miles _
hours

For example:

mph

"miles per hour"

Aug 24-1:55 PM Jan 24-4:19 PM
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The perimeter of an object is the distance around the
The Distance Formula outside.
. _ ) o For many objects there is a formula for the perimeter
distance is rate times time. based on its dimensions.
d i r T The two dimensions of a rectangle are LENGTH and
WIDTH.
d _ r T Perimeter of a rectangle:
P=2L + 2W
d = Gomiles 2hme
Voo~
L (length)
= 120 miks
miles _ mph
hours = ™P W (width)
Aug 24-2:01 PM Jan 19-10:40 PM
, "relationship equation”
L= 15w P-a2L + 2w
Lz 106 74 -
Pral + 2w ® e = L)t
" . v 4 AW
RN \
6 vd < 2 (160%d) +2(5914) L 1 () 25 - sw
A- LW 900 v 1 o6 vd b (s ) 5 5
L: * W
(looyd)( se yd) 300 Yd 15 3
SOOO (yod" - 5000 Square Yards

Aug 24-2:04 PM Aug 24-2:07 PM
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, "relationship equation”
w Y = 7_(..,45) + 2w
¢
3 = AwHld + W
L=¢+s 4 4w +lo
=1 24 = 4w
(-

Aug 24-2:10 PM

Recall:

Natural Numbers = {1, 2, 3,4, ...}

Example: The sum of two consecutive natural nhumbers is
25. Find the numbers.

25 = Linst + Secomd
25 = n + h+1
25 = Un + ]
4 = 2n
w  Fh

The numbers are 12 and 13.

Let n be any integer, then:

2n is an EVEN number

2n+1 isan ODD humber

Natural Even Numbers = { 2, 4, 6, 8, 10,12, ..... }

(numbers which are Natural AND Even)

Example: The sum of two consecutive even natural
numbers is 26. Find the numbers.

2¢ = first even 4 Secend even
6 = 2n + 2n+ 2

20 = Mn 42

Y = Yn

Aug 24-2:13 PM

24 = Yn
€ =n
12 s N

The numbers are 12 and 14.

Aug 24-2:15 PM

Jan 14-1:48 PM
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Circles

A circle is a collection
of points equidistant

from the center. Th e E n d .

Circumference: C=2nr

2
Area: A=Tr

Jan 22-5:32 PM Sep 1-2:49 PM

Jan 20-4:55 PM
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